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1° a) Démontrer que :  4 x2 – 9 < (2 x – 3) (3 x + 1) SYMBOL 219 \f "Symbol"\h (2 x – 3) (4 – x) < 0

b) Résoudre dans EQ \o\al(I;\d\fo2()R) l'inéquation 4 x2 – 9 < (2 x – 3) (3 x + 1) 

2° a) Démontrer que   eq \s\do1(\f(2 x – 1;x + 3)) SYMBOL 163 \f "Symbol"\h 5 SYMBOL 219 \f "Symbol"\h  eq \s\do1(\f(– 3 x – 16;x + 3)) SYMBOL 163 \f "Symbol"\h 0

b) Résoudre dans EQ \o\al(I;\d\fo2()R) l'inéquation  eq \s\do1(\f(2 x – 1;x + 3)) SYMBOL 163 \f "Symbol"\h 5 

3° a)  eq \s\do1(\f(1;x – 1)) +  eq \s\do1(\f(2;x + 1)) > 1 SYMBOL 219 \f "Symbol"\h  eq \s\do1(\f(3 x – x2;x2 – 1))
b) Résoudre dans EQ \o\al(I;\d\fo2()R) l'inéquation  eq \s\do1(\f(1;x – 1)) +  eq \s\do1(\f(2;x + 1)) > 1 

